Average Atomic Mass Work Sheet
Find the average atomic mass for the following element samples using the mass spectrometer data provided.

1.  In a sample of silicon, 92.21% of the atoms have a mass of 27.98 amu, 4.70% have a mass of 28.98 amu and 3.09% have a mass of 29.97 amu. What is the average atomic mass of the sample?

2.  Calculate the average atomic mass of oxygen. Oxygen has three naturally occurring isotopes: 

oxygen-16 with a mass of 15.99 amu, oxygen-17 with a mass of 17.00 amu and oxygen-18 with a mass of 18.00 amu. The relative abundances are 99.76%, 0.038% and 0.20% respectively.

3.  Lithium has two naturally occurring isotopes. Lithium-6 has a mass of 6.015121 amu with a relative abundance of 7.42% and lithium-7 has a mass of 7.016003 amu with a relative abundance of 92.58%.

What is the average atomic mass?

4.  A sample of silver is analyzed using a mass spectrometer. One isotopes makes up 51.35% of the sample and has an atomic mass of 106.905 amu. The other isotope has a mass of 108.905 amu. What is the average atomic mass of the sample?

5.  The element copper has the naturally occurring isotopes 63Cu and 65Cu. The relative bundances and masses are 69.2% with a mass of 62.93 amu and 30.8% with a mass of 64.93 amu. What is the average atomic mass of copper?

6.  What is the average atomic mass of a sample of lead with the following composition?

  1.37% lead-204

26.26% lead-206

20.82% lead-207

51.55% lead-208

7.  The following data is obtained for a sample of calcium. Find the average atomic mass.

92.35%  39.996 amu

  5.25%  38.999 amu

  2.40%  40.997 amu

8.  What is the average atomic mass of a sample of iron containing 70.50% of atoms with a mass of 55.989 amu, 25.25% with a mass of 54.991 and 4.25% with a mass of 57.995 amu.

